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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 1 ] ] ] I I

3500 —>— EcFzExp

3000 4- —>¢—  ECdef ) !

—>— water_ec |

2500 ' oo ,

Jﬂﬁﬁéﬁﬁ%ﬁﬁé 1

2000 :

I

§?€ |

1500 I

xme?x( !

1

1000 1

1

Warning: col| ['EcFgro’, 'EcPltng’] is missing 1

500

25

50

75 100 125 150 175




Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3

BfiE) | GEBATK (FY) | EHRE (EH/) | ERERE (B/R) | XK ERE

06:30 417 150.0 0.593 E {Ri%e06:30 Bz (KRAERSE)
07:20 417 150.0 0.593 F BRi%e07:20 Bz (REERESE)
08:20 417 150.0 0.593 =l {Ri%e08:20 B (RAERSE)
09:20 417 150.0 0.593 Sl 1Ri%e09:20 B3 (KRAERSE)
10:10 417 150.0 0.593 F BRi%e10:10 Bz (GRAERESE)
11:00 417 150. 0 0.593 F {Ri%e11:00 Bz (GRAERSE)
11:45 417 150.0 0.593 =l Rige11:45 Bz (REAEREE)
12:30 417 150.0 0.593 F BRige12:30 Bz (GRAERESE)
13:30 417 150.0 0.593 5| {Ri%e13:30 Bz (GRAERSE)
14:20 417 150.0 0.593 Sl Rige14:20 B3 (RAERSE)
15:05 417 150.0 0.593 E BRi&e15:05 Bz (GRAERESE)
15:55 417 150.0 0.593 5| {Ri%e15:55 B3 (GRAERSE)
17:00 417 150.0 0.593 S {Ri%e17:00 B3 (GRAERSE)
23t 5421.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 6.5

TEREHERE STEEART (197.0 :

PRIAEBRIERL158. 0 ml.

PE[ERECE (2178. 0 vs 4089.0) i35

158.0), FIEEKEREERE
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P3

BflE) | GEBRAMK @) | ERE(ERH/ | EREE (/R [ XS R

06:30 385 150.0 0.593 F[  BRi1%e06:30 Bal (RAEREE)
07:10 385 150.0 0.593 E| {Rige07:10 Bz (KRAERSE)
08:05 385 150.0 0.593 F  BRi%e08:05 BE1 (RAERERE)
08:55 385 150.0 0.593 El 1BRi&@08:55 Bzl (RFAEREEE)
09:45 385 150.0 0.593 S| {Rige09:45 B (KRAERSE)
10:25 385 150.0 0.593 F BRi%e10:25 Bzl (GRAERESE)
11:05 385 150.0 0.593 F {Ri%e11:05 Bz (GRAERSE)
11:40 385 150.0 0.593 Sl 1Rige11:40 B3 (RAERSE)
12:20 385 150.0 0.593 F BRige12:20 Bz (GRAERESE)
13:10 385 150.0 0.593 =l RiB@13:10 Bzt (REAEERESE)
13:50 385 150.0 0.593 =l 1Ri%e13:50 B3 (RAERSE)
14:25 385 150.0 0.593 El BRige14:25 Bz (GRAERESE)
15:05 385 150.0 0.593 5| {Ri%e15:05 B3 (GRAERSE)
15:50 385 150.0 0.593 S {Ri%e15:50 Bz (GRAERSE)
16:45 385 150.0 0.593 5l {Ri%e16:45 B (KRAERSE)
21| 5775.0 (15)%) 2250. 0 32 3KEC: 2080.0, PH: 6.5

#[ERECE (2180.0 vs

4010.0) id 5
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P3

BfiE) | GEBATK (R)) | EBE (EH/f) | ERERE (B/R) | XS R

06:30 333 150.0 0.593 F 1BRi&e06:30 Bzl (RAEREE)
07:20 333 150.0 0.593 = Ri8007:20 BHah (RAEESE)
08:45 333 150.0 0.593 [Z=| 1BRiBe08:45 Bzh (KAL)
09:30 333 150.0 0.593 FA| {Ri%@09:30 Bz (kAMEESE)
10:15 333 150.0 0.593 BH| {Ri%@10:15 B CGRAEFESE)
11:00 333 150.0 0.593 FE| {Ri%@11:00 Bz CGRAEREE)
11:50 333 150.0 0.593 FR| {Ri%@11:50 Bz CGRAERSE)
12:35 333 150.0 0.593 BHl 1BRige12:35 Bz (RAERESE)
13:25 333 150.0 0.593 [Z=| 1Bige13:25 Bzh (REERESE)
14:10 333 150.0 0.593 [Z=| Bige14:10 Bzh (REERESE)
15:05 333 150.0 0.593 |Z=| 1Ri&e15:05 Bzl (REAERESE)
16:20 333 150.0 0.593 |Z=| 1Ri&e16:20 Bzl (RAEE:E)
=it 3996.0 (12:%) 1800. 0 32 KEC: 2080.0, PH: 6.5
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